

THE WEIGHTED SECOND MAIN THEOREM AND ALGEBRAIC DEPENDENCE OF MEROMORPHIC MAPPINGS SHARING MOVING HYPERPLANES

HONGZHE CAO AND LIZHEN DUAN

ABSTRACT. In this article, we establish some new second main theorems for meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})$, in which the truncated counting functions have different weights. As for application, we deal with the algebraic dependence problem of meromorphic mappings sharing moving hyperplanes in general position.

1. Introduction

In 1933, H. Cartan [1] extended Nevanlinna theory to holomorphic mappings from \mathbb{C} into $\mathbb{P}^n(\mathbb{C})$ intersecting hyperplanes, where $\mathbb{P}^n(\mathbb{C})$ is the n -dimensional complex projective space. Since that time, this problem has been studied intensively by many authors, see [7]. The core of this theory is to establish the second main theorem.

The second main theorem for meromorphic mappings into $\mathbb{P}^n(\mathbb{C})$ with moving hyperplanes was first given by M. Ru, W. Stoll [8] and M. Ru, J. Wang [9] (the truncated case). But there is no sharp second main theorem with truncated counting functions for meromorphic mappings into $\mathbb{P}^n(\mathbb{C})$ ($n \geq 2$) intersecting moving hyperplanes. And then, S. D. Quang [2] considered the case where the truncated counting functions with different weights. To state some recent results, we recall the following.

Let a_1, \dots, a_q ($q \geq n + 1$) be q meromorphic mappings of \mathbb{C}^m into the dual space $\mathbb{P}^n(\mathbb{C})^*$ with reduced representations $a_i = (a_{i0} : \dots : a_{in})$ ($1 \leq i \leq q$). Let \mathcal{M}_m be the field of all meromorphic functions on \mathbb{C}^m , denote by $\mathcal{R}_{\{a_i\}_{i=1}^q} \subset \mathcal{M}_m$ the smallest subfield which contains \mathbb{C} and all $\frac{a_{ik}}{a_{il}}$ with $a_{il} \neq 0$ (for brevity we will write \mathcal{R} if there is no confusion).

In 2019, S. D. Quang [3] proved a current best second main theorem for meromorphic mappings into $\mathbb{P}^n(\mathbb{C})$ intersecting moving hyperplanes as follows.

Received February 3, 2019; Revised March 31, 2019; Accepted July 8, 2019.

2010 *Mathematics Subject Classification*. Primary 32H30, 32A22.

Key words and phrases. Second main theorem, algebraic dependence, moving hyperplanes.

This work was partially supported by the NSFC (No.11661052, No.11401291).

Theorem A ([3, Theorem 1.1]). *Let $f : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be a meromorphic mapping. Let $\{a_i\}_{i=1}^q (q \geq 2n - k + 2)$ be meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})^*$ in general position such that $(f, a_i) \not\equiv 0 (1 \leq i \leq q)$, where $k + 1 = \text{rank}_{\mathcal{R}}(f)$. Then the following assertions hold:*

(a)

$$\left\| \frac{q - (n - k)}{n + 2} T_f(r) \leq \sum_{i=1}^q N_{(f, a_i)}^{[k]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right); \right.$$

(b)

$$\left\| \frac{q - 2(n - k)}{k(k + 2)} T_f(r) \leq \sum_{i=1}^q N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right). \right.$$

Here, by the notation “ $\|P$ ” we mean the assertion P holds for all $r \in [0, \infty)$ outside a Borel subset E of the interval $[0, \infty)$ with $\int_E dr < \infty$.

Recently, P. D. Thoan, N. H. Nam and N. V. An [11] generalized Theorem A(a) as follows.

Theorem B ([11, Theorem 1.1]). *Let $f : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be a meromorphic mapping. Let $\{a_j\}_{j=1}^q (q \geq 2n - k + 2)$ be meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})^*$ in general position such that $(f, a_j) \not\equiv 0 (1 \leq j \leq q)$, where $k + 1 = \text{rank}_{\mathcal{R}}(f)$. Let $\lambda_1, \dots, \lambda_q$ be q positive numbers with $(2n - k + 2) \max_{1 \leq i \leq q} \lambda_i \leq \sum_{i=1}^q \lambda_i$. Then for every positive number $\eta \in [\max_{1 \leq i \leq q} \lambda_i, \frac{\sum_{i=1}^q \lambda_i}{2n - k + 2}]$, we have*

$$\left\| \frac{\sum_{j=1}^q \lambda_j - (n - k)\eta}{n + 2} T_f(r) \leq \sum_{j=1}^q \lambda_j N_{(f, a_j)}^{[k]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right). \right.$$

Our aim is to generalize Theorem A(b) and get the following result.

Theorem 1.1. *Let $f : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be a nonconstant meromorphic mapping. Let $\{a_i\}_{i=1}^q (q \geq 2n - k + 2)$ be meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})^*$ in general position such that $(f, a_i) \not\equiv 0 (1 \leq i \leq q)$, where $k + 1 = \text{rank}_{\mathcal{R}}(f)$. Let $\lambda_1, \dots, \lambda_q$ be q positive numbers with $2(n - k) \max_{1 \leq i \leq q} \lambda_i \leq \sum_{i=1}^q \lambda_i$. Then*

$$\begin{aligned} & \left\| \frac{\sum_{i=1}^q \lambda_i - 2(n - k) \max_{1 \leq i \leq q} \lambda_i}{k(k + 2)} T_f(r) \right. \\ & \leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right). \end{aligned}$$

For the case which the number of moving hyperplanes is more than $(n - k)(k + 1) + n + 2$, S. D. Quang [3] proved the following second main theorem.

Theorem C ([3, Theorem 1.3]). *Under the assumptions of Theorem A and further assume $q \geq (n - k)(k + 1) + n + 2$. Then*

$$\| \frac{q}{k+2} T_f(r) \leq \sum_{i=1}^q N_{(f, a_i)}^{[k]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).$$

We will prove the corresponding second main theorem with the weighted counting functions as follows.

Theorem 1.2. *Let $f : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be a nonconstant meromorphic mapping. Let $\{a_i\}_{i=1}^q$ ($q \geq (n - k)(k + 1) + n + 2$) be meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})^*$ in general position such that $(f, a_i) \not\equiv 0$ ($1 \leq i \leq q$), where $k + 1 = \text{rank}_{\mathcal{R}}(f)$. Let $\lambda_1, \dots, \lambda_q$ be q positive numbers satisfying $(n - k + 1)(k + 2) \max_{1 \leq i \leq q} \lambda_i \leq \sum_{i=1}^q \lambda_i$. Then*

$$\| \frac{\sum_{i=1}^q \lambda_i}{k+2} T_f(r) \leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[k]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).$$

As an application of second main theorem, W. Stoll [10] and M. Ru [6] dealt with algebraic dependence problem. S. D. Quang [3] generalized W. Stoll's work and considered the case of the number l depending on the moving hyperplanes. It means that for each j , we suppose that there exists a positive number l_j such that $f_{i_1} \wedge \dots \wedge f_{i_{l_j}} = 0$ on A_j for any l_j mappings. We will consider such algebraic dependence problem.

Let $f_i : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ ($1 \leq i \leq \lambda$) be meromorphic mappings with reduced representations $f_i := (f_{i_0} : \dots : f_{i_n})$. Assume that $(f_t, a_i) := \sum_{j=0}^n f_{t_j} a_{ij} \neq 0$ for each $1 \leq t \leq \lambda$, $1 \leq i \leq q$, and $(f_1, a_i)^{-1}\{0\} = \dots = (f_\lambda, a_i)^{-1}\{0\}$. Put $A_i = (f_1, a_i)^{-1}\{0\}$, and assume that every analytic set A_i has the irreducible decomposition as follows: $A_i = \bigcup_{j=1}^{t_i} A_{ij}$. Set $A = \bigcup_{A_{ij} \neq A_{kl}} \{A_{ij} \cap A_{kl}\}$ with $1 \leq j \leq t_i$, $1 \leq l \leq t_k$, $1 \leq i, k \leq q$.

Denote by $T[n + 1, q]$ the set of all injective maps from $\{1, \dots, n + 1\}$ to $\{1, \dots, q\}$. For each $z \in \mathbb{C}^m \setminus \{\bigcup_{\beta \in T[n+1, q]} \{z | a_{\beta(1)}(z) \wedge \dots \wedge a_{\beta(n+1)}(z) = 0\} \cup A \cup \bigcup_{i=1}^\lambda I(f_i)\}$, we define $\rho(z) = \#\{j \in A_j\}$, then $\rho(z) \leq n$.

For any positive number $r > 0$, define $\rho(r) = \sup\{\rho(z) | |z| \leq r\}$, where the supremum is taken over all $z \in \mathbb{C}^m \setminus \{\bigcup_{\beta \in T[n+1, q]} \{z | a_{\beta(1)}(z) \wedge \dots \wedge a_{\beta(n+1)}(z) = 0\} \cup A \cup \bigcup_{i=1}^\lambda I(f_i)\}$. Then $\rho(r)$ is a decreasing function. Let

$$d := \lim_{r \rightarrow \infty} \rho(r),$$

then $d < n$, and $d = 1$ when $\dim\{A_i \cap A_j\} \leq m - 2(i \neq j)$.

In 2017, L. N. Quynh [5] gave the following algebraic dependence theorem for meromorphic mappings sharing moving hyperplanes.

Theorem D ([5, Theorem 1.1]). *Let $f_1, \dots, f_\lambda : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be nonconstant meromorphic mappings. Let $\{a_j\}_{j=1}^q$ be moving hyperplanes of $\mathbb{P}^n(\mathbb{C})$ in general*

position satisfying $T(r, a_j) = o(\max_{1 \leq i \leq \lambda} T(r, f_i))(1 \leq j \leq q)$. Let $k_j(1 \leq j \leq q)$ be positive integers or $+\infty$. Assume that $(f_i, a_j) \not\equiv 0$ for $1 \leq i \leq \lambda, 1 \leq j \leq q$. Put $A_j := \text{Supp}\nu_{(f_1, a_j), \leq k_j}^0 = \dots = \text{Supp}\nu_{(f_\lambda, a_j), \leq k_j}^0$ for each $1 \leq j \leq q$, and $A = \bigcup_{j=1}^q A_j$. Let $l (\leq l \leq \lambda)$ be an integer such that for any $1 \leq i_1 < \dots < i_l \leq \lambda, z \in A, f_{i_1}(z) \wedge \dots \wedge f_{i_l}(z) = 0$. If

$$\sum_{j=1}^q \frac{1}{k_j} < \frac{q}{n(n+2)} - \frac{d\lambda}{\lambda-l+1},$$

then f_1, \dots, f_λ are algebraically dependent over \mathbb{C} , i.e., $f_1 \wedge \dots \wedge f_\lambda \equiv 0$.

For the case of the number l depending on the moving hyperplanes, we will apply Theorem 1.1 and show the following result.

Theorem 1.3. Let $f_1, \dots, f_\lambda : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be nonconstant meromorphic mappings. Let $\{a_j\}_{j=1}^q (q \geq (2n-1)(\lambda-1)+1)$ be moving hyperplanes of $\mathbb{P}^n(\mathbb{C})$ in general position satisfying $T(r, a_j) = o(\max_{1 \leq i \leq \lambda} T(r, f_i))(1 \leq j \leq q)$.

Let $k_j(1 \leq j \leq q)$ be positive integers or $+\infty$. Assume that $(f_i, a_j) \not\equiv 0$ and $A_j := \text{Supp}\nu_{(f_1, a_j), \leq k_j}^0 = \dots = \text{Supp}\nu_{(f_\lambda, a_j), \leq k_j}^0$ for each $1 \leq j \leq q$. Denote $A = \bigcup_{j=1}^q A_j$. Let l_1, \dots, l_q be q positive integers with $2 \leq l_i \leq \lambda$. Further assume any $1 \leq i_1 < \dots < i_j < q, f_{i_1}(z) \wedge \dots \wedge f_{i_j}(z) = 0$ for $z \in A$. If $k+1 = \max_{1 \leq t \leq \lambda} \{\text{rank}_{\mathcal{R}}(f_t), 1 \leq j \leq q\}$,

$$\sum_{j=1}^q \frac{1}{k_j} < \frac{q(\lambda+1) - \sum_{j=1}^q l_j - 2(n-k)(\lambda-1) - k(k+2)d\lambda}{k(k+2)(\lambda-1)},$$

then f_1, \dots, f_λ are algebraically dependent over \mathbb{C} .

Remark. From Theorem 1.3, we have the following results.

(1) Letting $k_j = +\infty (1 \leq j \leq q)$, we have

$$q > \frac{1}{\lambda+1} \left(d\lambda k(k+2) + \sum_{j=1}^q l_j + 2(n-k)(\lambda-1) \right).$$

(2) Letting $l_1 = \dots = l_q = l, k_j = +\infty (1 \leq j \leq q)$, we have

$$q > \frac{1}{\lambda-l+1} (d\lambda k(k+2) + 2(n-k)(\lambda-1)).$$

(3) Letting $\lambda = l_j = 2$ and $k_j = +\infty$, it implies the uniqueness theorem: if $q > 2k^2 + 2n + 2k$, then $f_1 = f_2$.

When $d = 1$ and $q > (n-k)(k+1) + n + 2$, we will obtain the following algebraic dependence theorem.

Theorem 1.4. Let $f_1, \dots, f_\lambda : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be nonconstant meromorphic mappings. Let $a_i : \mathbb{C}^m \rightarrow P^n(\mathbb{C})^*$ be meromorphic mappings in general position

satisfying $T(r, a_j) = o(\max_{1 \leq i \leq \lambda} T(r, f_i))$, $(1 \leq i \leq \lambda, 1 \leq j \leq q)$. Let $k_j (1 \leq j \leq q)$ be positive integers or $+\infty$. Assume that $(f_i, a_j) \neq 0$ $(1 \leq i \leq \lambda, 1 \leq j \leq q)$ and the following conditions are satisfied.

- (a) $\min\{1, \nu_{(f_1, a_j), \leq k_j}^0\} = \dots = \min\{1, \nu_{(f_\lambda, a_j), \leq k_j}^0\}$ for each $1 \leq j \leq q$;
- (b) $\dim(f_1, a_{j_1})^{-1}\{0\} \cap (f_1, a_{j_2})^{-1}\{0\} \leq m - 2$ for each $1 \leq j_1 < j_2 \leq q$;
- (c) Let l_1, \dots, l_q be q positive integers with $2 \leq l_i \leq \lambda$, such that for any increasing sequence $1 \leq i_1 < \dots < i_l \leq \lambda$, $f_{i_1}(z) \wedge \dots \wedge f_{i_l}(z) = 0, z \in \cup_{j=1}^q (f_1, a_j)^{-1}\{0\}$.

Put $\max\{\text{rank}_{\mathcal{R}}(f_i), 1 \leq i \leq \lambda\} = k + 1$, where k is a positive integer. Further assume $q \geq (n - k + 1)(k + 2)(\lambda - 1)$ for $k \leq \frac{n-1}{2}$, or $q \geq \frac{(n+3)^2}{4}(\lambda - 1)$ for $k > \frac{n-1}{2}$. If

$$\sum_{j=1}^q \frac{1}{k_j + 1 - k} < \frac{q^2(\lambda + 1) - q \sum_{j=1}^q l_j + q\lambda(k - 1) - q\lambda k(k + 2)}{k(k + 2)(q(\lambda - 1) + \lambda(k - 1))},$$

then f_1, \dots, f_λ are algebraically dependent over \mathbb{C} .

Remark. (1) When $\text{rank}_{\mathcal{R}}(f_i) = k + 1$ and $k_j = +\infty$ $(1 \leq i \leq \lambda, 1 \leq j \leq q)$, we see that the above inequality becomes

$$q \geq \max\{(n - k + 1)(k + 2)(\lambda - 1), \frac{1}{\lambda + 1}(\sum_{j=1}^q l_j + \lambda k(k + 2) - \lambda(k - 1))\}.$$

(2) Let $\lambda = l = 2$ when $k_j = +\infty$, according to the Lemma 1 in [4], we may show that $\text{rank}_{\mathcal{R}}(f_1) = \text{rank}_{\mathcal{R}}(f_2)$. So if

$$q > \max\{(n - k + 1)(k + 2), 2k^2 + 2k + 2\},$$

then $f_1 = f_2$.

2. Basic nations and auxiliary results from Nevanlinna theory

2.1. We set $\|z\| = (|z_1|^2 + \dots + |z_n|^2)^{\frac{1}{2}}$ for $z = (z_1, \dots, z_n) \in \mathbb{C}^n$ and define $B(r) := \{z \in \mathbb{C}^n : \|z\| < r\}, S(r) := \{z \in \mathbb{C}^n : \|z\| = r\} (0 < r < \infty)$. Define

$$\nu_{n-1}(z) := (dd^c \|z\|^2)^{n-1}, \sigma_n(z) := d^c \log \|z\|^2 \wedge (dd^c \log \|z\|^2)^{n-1}$$

on $\mathbb{C}^n \setminus \{0\}$.

2.2. For a divisor ν on \mathbb{C} , we denote by $N(r, \nu)$ the counting function of the divisor ν as usual in Nevanlinna theory. For a positive integer M or $M = \infty$, we define the truncated divisor of ν by

$$\begin{aligned} \nu^{[M]}(z) &= \min\{M, \nu(z)\}, \\ \nu_{\leq k}^{[M]}(z) &:= \begin{cases} \nu^{[M]}(z) & \text{if } \nu^{[M]}(z) \leq k, \\ 0 & \text{if } \nu^{[M]}(z) > k. \end{cases} \end{aligned}$$

Similarly, we define $\nu_{>k}^{[M]}$. We will write $N^{[M]}(r, \nu), N_{\leq k}^{[M]}(r, \nu), N_{>k}^{[M]}(r, \nu)$ for $N(r, \nu^{[M]}), N(r, \nu_{\leq k}^{[M]}), N(r, \nu_{>k}^{[M]})$ as respectively. We will omit the character $[M]$ if $M = \infty$.

Let V be a complex vector space of dimension $n > 1$. The vectors $\{v_1, \dots, v_k\}$ are said to be in general position if for each selection of integers $1 \leq i_1 < \dots < i_p \leq k$ with $p \leq n$, then $v_{i_1} \wedge \dots \wedge v_{i_p} \neq 0$. The vectors $\{v_1, \dots, v_k\}$ are said to be in a special position if they not in general position. Take $1 \leq p \leq k$, then $\{v_1, \dots, v_k\}$ are said to be in p -special position if for each selection of integers $1 \leq i_1 < \dots < i_p \leq k$, the vectors v_{i_1}, \dots, v_{i_p} are in a special position.

Definition. A subset \mathcal{L} of \mathcal{M} (or \mathcal{M}^{n+1}) is said to be minimal over the field \mathcal{R} if it is linearly dependent over \mathcal{R} and each proper subset of \mathcal{L} is linearly independent over \mathcal{R} .

Theorem 2.1 (The First Main Theorem for general position, [10], p. 326). *Let $f_j : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C}), 1 \leq j \leq k$, be meromorphic mappings located in general position. Assume that $1 \leq k \leq n$, then*

$$N(r, \mu_{f_1 \wedge \dots \wedge f_k}) + m(r, f_1 \wedge \dots \wedge f_k) \leq \sum_{1 \leq i \leq k} T(r, f_i) + O(1).$$

Theorem 2.2 (The Second Main Theorem for general position, [10], Theorem 2.1, p. 320). *Let M be a connected complex manifold of dimension m . Let A be a pure $(m - 1)$ -dimensional analytic subset of M and V be a complex vector space of dimension $n + 1 > 1$. Let p and k be integers with $1 \leq p \leq k \leq n + 1$. Let $f_j : M \rightarrow P(V), 1 \leq j \leq k$, be meromorphic mappings. Assume that f_1, \dots, f_k are in general position, and f_1, \dots, f_k are in p -special position on A . Then, we have*

$$\mu_{f_1 \wedge \dots \wedge f_k} \geq (k - p + 1)\nu_A.$$

Here, by ν_A , we denote the reduced divisor whose support is the set A .

3. Proof of Theorems 1.1 and 1.2

Lemma 3.1 ([3, Lemma 3.1]). *Let $f : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ be a meromorphic mapping. Let $\{a_i\}_{i=1}^q$ be q meromorphic mappings of \mathbb{C}^m into $\mathbb{P}^n(\mathbb{C})^*$ in general position with $\text{rank}\{(f, \tilde{a}_i); 1 \leq i \leq q\} = \text{rank}_{\mathcal{R}}(f)$. Assume that there exists a partition $\{1, \dots, q\} = I_1 \cup I_2 \cup \dots \cup I_l$ satisfying:*

- (i) $\{(f, \tilde{a}_i)\}_{i \in I_1}$ is minimal over \mathcal{R} , $\{(f, \tilde{a}_i)\}_{i \in I_t}$ is linearly independent over $\mathcal{R} (2 \leq t \leq l)$;
- (ii) For any $2 \leq t \leq l, i \in I_t$, there exists meromorphic function $c_i \in \mathcal{R} \setminus \{0\}$ such that

$$\sum_{i \in I_t} c_i(f, \tilde{a}_i) \in \left(\bigcup_{j=1}^{t-1} \bigcup_{i \in I_j} (f, \tilde{a}_i) \right)_{\mathcal{R}}.$$

Then we have

$$\|T_f(r)\| \leq \sum_{i=1}^t \sum_{j \in I_i}^q N_{(f, a_j)}^{[n_i]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)),$$

where $n_1 = \#I_1 - 2$ and $n_t = \#I_t - 1$ for $t = 2, \dots, l$.

3.1. Proof Theorem 1.1

We denote by \mathcal{I} the set of all permutations of q -tuple $(1, \dots, q)$. For each element $I = (i_1, \dots, i_q) \in \mathcal{I}$, we set

$$M_I = \{r \in \mathbb{R}^+; N_{(f, a_{i_1})}^{[1]}(r) \leq \dots \leq N_{(f, a_{i_q})}^{[1]}(r)\}.$$

We now consider an element $I = (i_1, \dots, i_q)$ of \mathcal{I} , and construct subsets I_t of the set $A_1 = \{1, \dots, 2n - k + 2\}$. The proof of the first half is totally similar to the case of S. D. Quang [3]. By repeating the same lines of the proof, we also get the family of subsets I_1, \dots, I_l satisfying the assumption Lemma 3.1. Thus

$$\begin{aligned} T_f(r) &\leq \sum_{s=1}^l \sum_{j \in I_s} N_{(f, a_j)}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\ &\leq \sum_{j \in J} N_{(f, a_j)}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \end{aligned}$$

for all $r \in N_I$ (maybe outside a finite Borel measure subset of \mathbb{R}^+).

Put $(n_1 + 2) + (n_2 + 1) + \dots + (n_l + 1) = d + 2$, $n_1 + 1 + n_2 + \dots + n_l = k + 1$. Since $\#J = d + 2 \leq n + 2$, where $J = I_1 \cup \dots \cup I_l$, we note that $J \subset \{1, 2, \dots, 2n - k + 2\}$ and $\#J \leq \min\{n + k + 1, 2n - k + 2\}$. Put $J_1 = \{1, 2, \dots, 2n - k + 2\} \setminus J$, and $\#J_1 = (2n - k + 2) - (d + 2) = 2n - k - d$. We see that

$$n_s = k - \sum_{i=1, i \neq s}^l n_i \leq k - (l - 1).$$

Set $\eta \in [\max_{1 \leq i \leq q} \lambda_i, \frac{\sum_{i=1}^q \lambda_i}{2(n-k)}]$, then $\sum_{j \in J_1} \lambda_{i_j} - \#J_1 \eta \leq 0$. We obtain

$$\begin{aligned} &\|(\sum_{i=1}^q \lambda_i - \#J_1 \eta) T_f(r)\| \\ &\leq (\sum_{i=1}^q \lambda_i - \#J_1 \eta) \sum_{j \in J} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\ &\leq \sum_{j \notin J_1} \lambda_{i_j} \sum_{j \in J} N_{(f, a_{i_j})}^{[n_s]}(r) + (\sum_{j \in J_1} \lambda_{i_j} - \#J_1 \eta) \sum_{j \in J} N_{(f, a_{i_j})}^{[n_s]}(r) \\ &\quad + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \end{aligned}$$

$$\begin{aligned}
&\leq \#J \sum_{j \in J} \frac{\sum_{j \notin J_1} \lambda_{i_j}}{\#J} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
&\leq \#J \sum_{j \in J} \lambda_{i_j} N_{(f, a_{i_j})}^{[n_s]}(r) + \#J \sum_{j \in J} \left(\frac{\sum_{j \notin J_1} \lambda_{i_j}}{\#J} - \lambda_{i_j} \right) N_{(f, a_{i_j})}^{[n_s]}(r) \\
&\quad + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
&\leq \#J \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).
\end{aligned}$$

Therefore,

$$\begin{aligned}
(1) \quad \left\| \left(\sum_{i=1}^q \lambda_i - \#J_1 \eta \right) T_f(r) \right\| &= \left(\sum_{i=1}^q \lambda_i - (2n - k - d)\eta \right) T_f(r) \\
&= \left(\sum_{i=1}^q \lambda_i - (2(n - k) - l + 1)\eta \right) T_f(r) \\
&\leq \#J \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
&= (d + 2) \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).
\end{aligned}$$

On the other hand, we have

$$\begin{aligned}
(2) \quad \sum_{i=1}^q \lambda_i - \#J_1 \eta &= \sum_{i=1}^q \lambda_i - (2n - k + 2 - (d + 2))\eta \\
&= \sum_{i=1}^q \lambda_i - (2(n - k) - l + 1)\eta \\
&\geq \sum_{i=1}^q \lambda_i - 2(n - k)\eta > 0.
\end{aligned}$$

From the inequalities (1) and (2), we get

$$\begin{aligned}
&\left\| \frac{\sum_{i=1}^q \lambda_i - (2n - k - d)\eta}{d + 2} T_f(r) \right\| \\
&\leq \sum_{j=1}^q \lambda_{i_j} N_{(f, a_{i_j})}^{[n_s]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).
\end{aligned}$$

Hence for any $\eta \in \left[\max_{1 \leq i \leq q} \lambda_i, \frac{\sum_{i=1}^q \lambda_i}{2(n - k)} \right]$,

$$\left\| \left(\sum_{i=1}^q \lambda_i - (2(n - k))\eta \right) T_f(r) \right\|$$

$$\begin{aligned}
&\leq \left(\sum_{i=1}^q \lambda_i - (2n - k - d)\eta \right) T_f(r) \\
&\leq (d+2)n_s \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right) \\
&\leq (k+1+l)(k+1-l) \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) \\
&\quad + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right) \\
&\leq k(k+2) \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right).
\end{aligned}$$

Therefore,

$$\left\| \frac{\sum_{i=1}^q \lambda_i - 2(n-k)\eta}{k(k+2)} T_f(r) \right\| \leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right).$$

Since

$$\frac{\sum_{i=1}^q \lambda_i - 2(n-k)\eta}{k(k+2)} \leq \frac{\sum_{i=1}^q \lambda_i - 2(n-k) \max_{1 \leq i \leq q} \lambda_i}{k(k+2)},$$

we get

$$\begin{aligned}
&\left\| \frac{\sum_{i=1}^q \lambda_i - 2(n-k) \max_{1 \leq i \leq q} \lambda_i}{k(k+2)} T_f(r) \right\| \\
&\leq \sum_{i=1}^q \lambda_i N_{(f, a_i)}^{[1]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right).
\end{aligned}$$

We see that $\bigcup_{I \in \mathcal{I}} N_I = \mathbb{R}^+$ and the above inequality holds for every $r \in N_I, I \in \mathcal{I}$. Theorem 1.1 is proved.

Proof Theorem 1.2. We denote by \mathcal{I} the set of all permutations of q -tuple $(1, \dots, q)$. For each element $I = (i_1, \dots, i_q) \in \mathcal{I}$, we set

$$N_I = \{r \in \mathbb{R}^+; N_{(f, a_{i_1})}^{[k]}(r) \leq \dots \leq N_{(f, a_{i_q})}^{[k]}(r)\}.$$

We now consider an element $I = (i_1, \dots, i_q)$ of \mathcal{I} . By repeating the same lines of the proof, we also get a similar result of the family of subsets I satisfying the assumption Lemma 3.1. Then for all $r \in N_I$, we have

$$\begin{aligned}
\|T_f(r)\| &\leq \sum_{j=1}^{k+l} N_{(f, a_j)}^{[k]}(r) + o(T_f(r)) + O\left(\max_{1 \leq i \leq q} T_{a_i}(r)\right) \\
&\leq N_{(f, a_1)}^{[k]}(r) + \sum_{i=n-k+2}^{n+l} N_{(f, a_i)}^{[k]}(r) + N_{(f, a_{(n-k+1)(k+1)+1})}^{[k]}(r) + o(T_f(r))
\end{aligned}$$

$$\begin{aligned}
 &+ O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
 \leq &\frac{1}{n-k+1} \left(\sum_{i=1}^{(n-k+1)(k+1)+1} N_{(f,a_i)}^{[k]}(r) \right) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).
 \end{aligned}$$

In the same way, we have

$$\begin{aligned}
 &\| \sum_{i=1}^q \lambda_i T_f(r) \\
 \leq &\frac{\sum_{i=1}^q \lambda_i}{n-k+1} \sum_{j=1}^{(n-k+1)(k+2)} N_{(f,a_i)}^{[k]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
 = &\frac{(n-k+1)(k+2)}{n-k+1} \sum_{j=1}^{(n-k+1)(k+2)} \left(\frac{\sum_{i=1}^q \lambda_i}{(n-k+1)(k+2)} N_{(f,a_i)}^{[k]}(r) \right) \\
 &+ o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
 \leq &(k+2) \sum_{j=1}^{(n-k+1)(k+2)} \left(\frac{\sum_{i=1}^q \lambda_i}{(n-k+1)(k+2)} - \lambda_{i_j} \right) N_{(f,a_i)}^{[k]}(r) \\
 &+ (k+2) \left(\sum_{j=1}^{(n-k+1)(k+2)} \lambda_{i_j} N_{(f,a_i)}^{[k]}(r) \right) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)) \\
 \leq &(k+2) \sum_{j=1}^q \lambda_{i_j} N_{(f,a_i)}^{[k]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).
 \end{aligned}$$

Then we have

$$\left\| \frac{\sum_{i=1}^q \lambda_i}{k+2} T_f(r) \right\| \leq \sum_{i=1}^q \lambda_i N_{(f,a_i)}^{[k]}(r) + o(T_f(r)) + O(\max_{1 \leq i \leq q} T_{a_i}(r)).$$

We see that above inequality holds for every $r \in N_I$, $I \in \mathcal{I}$ outside a finite Borel measure subset. Therefore, Theorem 1.2 is proved. \square

4. Proof of Theorems 1.3 and 1.4

Lemma 4.1 ([5, Claim 3.1]). *For every $1 \leq i \leq \lambda$, $1 \leq j \leq q$ and $1 \leq k \leq n$, we have*

$$N_{\leq k_j}^{[k]}(r, \nu_{(f_i, a_j)}^0) \geq \frac{k_j + 1}{k_j + 1 - k} N^{[k]}(r, \nu_{(f_i, a_j)}^0) - \frac{k}{k_j + 1 - k} T(r, f_i).$$

Lemma 4.2 ([2, Claim 4.2]). *For every $1 \leq t \leq \lambda$, we have*

$$\sum_{j=1}^q (\lambda - l_j + 1) \min\{1, \nu_{(f_i, a_j)}(z)\} \leq d\mu_{f_1 \wedge \dots \wedge f_\lambda}(z) + q(\lambda - 1) \sum_{\beta} \mu_{a_{\beta(1)} \wedge \dots \wedge a_{\beta(n+1)}}(z)$$

for each $z \notin A \cup \bigcup_{i=1}^{\lambda} I(f_i)$, where the sum is taken over all injective map $\beta : \{1, 2, \dots, n+1\} \rightarrow \{1, 2, \dots, q\}$.

Proof Theorem 1.3. Since $\nu_{(f_i, a_j), \leq k_j}^{[1]}(z) \leq \nu_{(f_i, a_j)}^{[1]}(z)$ and Lemma 4.2, it yields that

$$\begin{aligned} & \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j), \leq k_j}^{[1]}(r) \\ & \leq \sum_{j=1}^q (\lambda - l_j + 1) N_{(f_t, a_j)}^{[1]}(r) \\ & \leq d N_{\mu f_1 \wedge \dots \wedge f_\lambda}(r) + q(\lambda - 1) \sum_{\beta \in T[n+1, q]} N_{\mu a_{\beta(1)} \wedge \dots \wedge a_{\beta(n+1)}}(r) \\ & \leq d \sum_{i=1}^{\lambda} T_{f_i}(r) + q(\lambda - 1) \sum_{\beta \in T[n+1, q]} \sum_{i=1}^{n+1} T_{a_{\beta(i)}}(r) \\ & = d \sum_{i=1}^{\lambda} T_{f_i}(r) + o(\max_{1 \leq i \leq q} T_{f_i}(r)). \end{aligned}$$

By Lemma 4.1, we have

$$\begin{aligned} d \sum_{i=1}^{\lambda} T_{f_i}(r) & \geq \sum_{j=1}^q (\lambda - l_j + 1) N^{[1]}(r, \nu_{(f_t, a_j), \leq k_j}) \\ & \geq \sum_{j=1}^q (\lambda - l_j + 1) \left(\frac{k_j + 1}{k_j} N_{(f_t, a_j)}^{[1]}(r) - \frac{1}{k_j} T_{f_i}(r) \right) \\ & \geq \sum_{j=1}^q (\lambda - l_j + 1) N^{[1]}(r, \nu_{(f_t, a_j)}) - \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j} T_{f_i}(r). \end{aligned}$$

Hence,

$$d\lambda \sum_{i=1}^{\lambda} T_{f_i}(r) + \sum_{j=1}^q \sum_{i=1}^{\lambda} \frac{\lambda - l_j + 1}{k_j} T_{f_i}(r) \geq \sum_{j=1}^q \sum_{i=1}^{\lambda} (\lambda - l_j + 1) N^{[1]}(r, \nu_{(f_t, a_j)}).$$

Put $\lambda_i = \lambda - l_i + 1$, $\lambda_{i_0} = \max\{\lambda_i, 1 \leq i \leq \lambda\}$ and $k_t + 1 = \text{rank}_{\mathcal{R}}(f_t)$, $k = \max\{k_t : 1 \leq t \leq \lambda\}$, ($1 \leq i \leq q$, $1 \leq t \leq \lambda$). We easily see that

$$\frac{\sum_{j=1}^q \lambda_j}{\lambda_{i_0}} \geq 1 + \frac{q-1}{\lambda-1} \geq 2n > 2(n - k_t).$$

From Theorem 1.1, we obtain

$$\| \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k_t) \max_{1 \leq j \leq q} (\lambda - l_j + 1)}{k_t(k_t + 2)} T_{f_i}(r) \|$$

$$\leq \sum_{j=1}^q (\lambda - l_j + 1) N^{[1]}(r, \nu_{(f_t, a_j)}) + o(\max_{1 \leq i \leq q} T_{a_i}(r)).$$

On the other hand,

$$\begin{aligned} & \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2n(\lambda - 1) + 2k(\lambda - 1)}{k(k + 2)} \\ & \leq \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2n(\lambda - 1) + 2k_t(\lambda - 1)}{k_t(k_t + 2)}. \end{aligned}$$

Hence

$$\begin{aligned} & \|(d\lambda + \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j})T(r) \\ & \geq \sum_{i=1}^{\lambda} \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1)}{k(k + 2)} T_{f_i}(r) + o(\max_{1 \leq i \leq q} T_{a_i}(r)). \end{aligned}$$

Letting $r \rightarrow +\infty$, we get

$$\begin{aligned} \sum_{j=1}^q \frac{\lambda - 1}{k_j} & \geq \sum_{j=1}^q \frac{\lambda - l_j + 1}{k_j} \\ & \geq \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1) - k(k + 2)d\lambda}{k(k + 2)}. \end{aligned}$$

This implies that

$$\sum_{j=1}^q \frac{1}{k_j} \geq \frac{q(\lambda + 1) - \sum_{j=1}^q l_j - 2(n - k)(\lambda - 1) - k(k + 2)d\lambda}{k(k + 2)(\lambda - 1)}.$$

It is a contradiction. The proof of Theorem 1.3 is finished. \square

Lemma 4.3 ([5, Claim 3.3]). *Let $h_i : \mathbb{C}^m \rightarrow \mathbb{P}^n(\mathbb{C})$ ($1 \leq i \leq p \leq n + 1$) be meromorphic mappings with reduced representations $h_i := (h_{i0} : \cdots : h_{in})$, $a_i := (a_{i0} : \cdots : a_{in})$. Put $\tilde{h} := ((h_i, a_1) : \cdots : (h_i, a_{n+1}))$, and assume that a_1, \dots, a_{n+1} are located in general position such that $(h_i, a_j) \not\equiv 0$ ($1 \leq i \leq p, 1 \leq j \leq n + 1$). Let S be a pure $(m - 1)$ -dimensional analytic subset of \mathbb{C}^m such that $S \not\subset (a_1 \wedge \cdots \wedge a_{n+1})^{-1}\{0\}$. Then $h_1 \wedge \cdots \wedge h_p = 0$ on S if and only if $\tilde{h}_1 \wedge \cdots \wedge \tilde{h}_p = 0$ on S .*

Put $J = \{j_1, \dots, j_\lambda\}$, $J^c = \{1, \dots, q\} \setminus J$ and

$$B_J = \begin{pmatrix} (f_1, a_{j_1}) & \cdots & (f_\lambda, a_{j_1}) \\ (f_1, a_{j_2}) & \cdots & (f_\lambda, a_{j_2}) \\ \vdots & \vdots & \vdots \\ (f_1, a_{j_\lambda}) & \cdots & (f_\lambda, a_{j_\lambda}) \end{pmatrix}.$$

Lemma 4.4 ([5, Claim 3.4]). *If B_J is nondegenerate, i.e., $\det B_J \neq 0$, then*

$$\begin{aligned} \nu_{\tilde{f}_1 \wedge \dots \wedge \tilde{f}_\lambda} &\geq \sum_{j \in J} \left(\min_{1 \leq i \leq \lambda} \{ \nu_{(f_i, a_j), \leq k_j}^0 \} - \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \right) \\ &\quad + \sum_{j=1}^q (\lambda - l_j + 1) \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \end{aligned}$$

on the set $\mathbb{C}^n \setminus (A \cup \bigcup_{i=1}^\lambda I(f_i) \cup (a_{j_1} \wedge \dots \wedge a_{j_\lambda})^{-1}(0))$, where $\tilde{f}_i := ((f_i, a_{j_1}) : \dots : (f_i, a_{j_\lambda}))$ and $A = \bigcup_{1 \leq i < j \leq q} Z_{(f_1, a_i)} \cap Z_{(f_1, a_j)}$.

Proof Theorem 1.4. For each j , $1 \leq j \leq q$, we set

$$N_j(r) = \sum_{i=1}^\lambda N_{\leq k_j}^{[k]}(r, \nu_{(f_i, a_j)}^0) - ((\lambda - 1)k + 1)N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0)$$

and for each permutation $I = (j_1, \dots, j_q)$ of $(1, \dots, q)$, put

$$T_I = \{r \in [1, +\infty); N_{j_1}(r) \geq \dots \geq N_{j_q}(r)\}.$$

It is clear that $\bigcup_I T_I = [1, +\infty)$. Therefore, there exists a permutation, for instance, it is $I_1 = (1, \dots, q)$ such that $\int_{T_{I_1}} dr = +\infty$. Then, we have

$$N_1(r) \geq N_{j_1}(r) \geq N_{j_2}(r) \geq \dots \geq N_{j_\lambda}(r) \geq N_q(r)$$

for each $r \in T_{I_1}$.

We see that $\min_{1 \leq i \leq \lambda} b_i \geq \sum_{i=1}^\lambda \min\{k, b_i\} - (\lambda - 1)k$, for every λ non-negative integers b_1, \dots, b_λ . Lemma 4.4 implies that

$$\begin{aligned} &\sum_{j \in J} \left(\sum_{i=1}^\lambda \min\{k, \nu_{(f_i, a_j), \leq k_j}^0\} - ((\lambda - 1)k + 1) \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \right) \\ &\quad + \sum_{j=1}^q (\lambda - l_j + 1) \min\{1, \nu_{(f_i, a_j), \leq k_j}^0\} \leq \mu_{\tilde{f}_1 \wedge \dots \wedge \tilde{f}_\lambda} \end{aligned}$$

on the set $\mathbb{C}^n \setminus (A \cup \bigcup_{i=1}^\lambda I(f_i) \cup (a_{j_1} \wedge \dots \wedge a_{j_\lambda})^{-1}(0))$. Integrating both sides of the inequality, we have

$$\begin{aligned} (3) \quad &\sum_{j \in J} \left(\sum_{i=1}^\lambda N_{\leq k_j}^{[k]}(r, \nu_{(f_i, a_j)}^0) - ((\lambda - 1)k + 1)N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0) \right) \\ &\quad + \sum_{j=1}^q (\lambda - l_j + 1)N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0) \leq N_{\tilde{f}_1 \wedge \dots \wedge \tilde{f}_\lambda}(r) = N_{\det B_J}(r). \end{aligned}$$

By Jensen's formula, we obtain

$$(4) \quad N_{\det B_J}(r) \leq \int_{S(r)} \log |\det B_J| \sigma_n + O(1) \leq \sum_{i=1}^\lambda T(r, f_i) + o\left(\max_{1 \leq i \leq \lambda} T(r, f_i)\right).$$

Set $T(r) = \sum_{i=1}^{\lambda} T(r, f_i)$. Combining (3) and (4), we get for all $r \in I_1$,

$$\begin{aligned}
\|T(r)\| &\geq \sum_{i=1}^{\lambda} N_{j_i}(r) + \sum_{j=1}^q (\lambda - l_j + 1) N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0) + o(\max_{1 \leq i \leq \lambda} T(r, f_i)) \\
&\geq \frac{\lambda}{q} \sum_{j=1}^q N_j(r) + \sum_{j=1}^q (\lambda - l_j + 1) N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0) + o(\max_{1 \leq i \leq \lambda} T(r, f_i)) \\
&= \sum_{j=1}^q (\lambda - l_j + 1 - \frac{\lambda((\lambda - 1)k + 1)}{q}) N_{\leq k_j}^{[1]}(r, \nu_{(f_1, a_j)}^0) \\
&\quad + \sum_{j=1}^q \sum_{i=1}^{\lambda} \frac{\lambda}{q} N_{\leq k_j}^{[k]}(r, \nu_{(f_i, a_j)}^0) + o(\max_{1 \leq i \leq \lambda} T(r, f_i)) \\
&\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} \left(\frac{\lambda - l_j + 1}{\lambda k} - \frac{(\lambda - 1)k + 1}{qk} + \frac{\lambda}{q} \right) N_{\leq k_j}^{[k]}(r, \nu_{(f_i, a_j)}^0) \\
&\quad + o(\max_{1 \leq i \leq \lambda} T(r, f_i)).
\end{aligned}$$

From Lemma 4.1 and the above inequality, we get

$$\begin{aligned}
\|T(r)\| &\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} \left(\frac{q(\lambda - l_j + 1) + \lambda(k - 1)}{q\lambda k} \right) N^{[k]}(r, \nu_{(f_i, a_j)}^0) \\
&\quad + \sum_{j=1}^q \left(\frac{q(\lambda - l_j + 1) + \lambda(k - 1)}{q\lambda k} \right) \frac{k}{k_j + 1 - k} T(r) + o(\max_{1 \leq i \leq \lambda} T(r, f_i)).
\end{aligned}$$

It implies that

$$\begin{aligned}
(5) \quad &\|q\lambda k \left(1 + \sum_{j=1}^q \frac{k}{k_j + 1 - k} \left(\frac{\lambda - l_j + 1}{\lambda k} - \frac{(\lambda - 1)k + 1}{qk} \right) + \frac{\lambda}{q} \right) T(r) \\
&\geq \sum_{j=1}^q \sum_{i=1}^{\lambda} (q(\lambda - l_j + 1) + \lambda(k - 1)) N^{[k]}(r, \nu_{(f_i, a_j)}^0) + o(\max_{1 \leq i \leq \lambda} T(r, f_i)).
\end{aligned}$$

For each $1 \leq j \leq q$, put $\lambda_j = q(\lambda - l_j + 1) + \lambda(k - 1)$, we see that

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq \frac{q^2 + q\lambda(k - 1)}{q(\lambda - 1) + \lambda(k - 1)} \geq \frac{q}{\lambda - 1}.$$

Case a. If $k \leq \frac{n-1}{2}$, $q \geq (n - k + 1)(k + 2)(\lambda - 1)$, we get

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq (n - k + 1)(k + 2) \geq (n - k_t + 1)(k_t + 2).$$

Applying Theorem 1.2,

$$(6) \quad \begin{aligned} & \left\| \sum_{j=1}^q (q(\lambda - l_j + 1) + \lambda(k - 1)) N^{[k]}(r, \nu_{(f_t, a_j)}^0) \right\| \\ & \geq \frac{\sum_{j=1}^q (q(\lambda - l_j + 1) + \lambda(k - 1))}{k + 2} T_{f_t}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

Combining inequalities (5) and (6), we have

$$\begin{aligned} & \|q\lambda k \left(1 + \sum_{j=1}^q \frac{k}{k_j + 1 - k} \left(\frac{\lambda - l_j + 1}{\lambda k} - \frac{(\lambda - 1)k + 1}{qk} + \frac{\lambda}{q} \right) \right) T(r) \\ & \geq \sum_{t=1}^{\lambda} \frac{\sum_{j=1}^q ((q(\lambda - l_j + 1) + \lambda(k - 1)))}{k + 2} T_{f_t}(r) + o\left(\max_{1 \leq i \leq \lambda} T_{f_i}(r)\right). \end{aligned}$$

Letting $r \rightarrow +\infty$,

$$\begin{aligned} & q^2(\lambda + 1) - q \sum_{j=1}^q l_j + q\lambda(k - 1) \\ & \leq q\lambda k(k + 2) + q\lambda k(k + 2) \sum_{j=1}^q \frac{k}{k_j + 1 - k} \frac{q(\lambda - l_j + 1) + \lambda(k - 1)}{q\lambda k}. \end{aligned}$$

Thus

$$\sum_{j=1}^q \frac{1}{k_j + 1 - k} \geq \frac{q^2(\lambda + 1) - q \sum_{j=1}^q l_j + q\lambda(k - 1) - q\lambda k(k + 2)}{k(k + 2)(q(\lambda - 1) + \lambda(k - 1))}.$$

This is a contradiction. Hence, we have $f_1 \wedge \dots \wedge f_\lambda \equiv 0$.

Case b. If $k > \frac{n-1}{2}$, $q \geq \frac{(n+3)^2}{4}(\lambda - 1)$, then

$$\frac{\sum_{i=1}^q \lambda_i}{\max \lambda_i} \geq \frac{(n + 3)^2}{4} \geq (n - k_t + 1)(k_t + 2).$$

By Case (a), we also have $f_1 \wedge \dots \wedge f_\lambda \equiv 0$. □

References

- [1] H. Cartan, *Sur les zeros des combinaisons lineaires de p fonctions holomorphes donnees*, *Mathematica* **7** (1933), 5–31.
- [2] S. D. Quang, *Second main theorems with weighted counting functions and algebraic dependence of meromorphic mappings*, *Proc. Amer. Math. Soc.* **144** (2016), no. 10, 4329–4340. <https://doi.org/10.1090/proc/13061>
- [3] ———, *Second main theorems for meromorphic mappings and moving hyperplanes with truncated counting functions*, *Proc. Amer. Math. Soc.* **147** (2019), no. 4, 1657–1669. <https://doi.org/10.1090/proc/14377>
- [4] S. D. Quang and D. P. An, *Unicity of meromorphic mappings sharing few moving hyperplanes*, *Vietnam J. Math.* **41** (2013), no. 4, 383–398. <https://doi.org/10.1007/s10013-013-0035-1>

- [5] L. N. Quynh, *Algebraic dependences of meromorphic mappings sharing moving hyperplanes without counting multiplicities*, Asian-Eur. J. Math. **10** (2017), no. 3, 1750040, 15 pp. <https://doi.org/10.1142/S1793557117500401>
- [6] M. Ru, *A uniqueness theorem with moving targets without counting multiplicity*, Proc. Amer. Math. Soc. **129** (2001), no. 9, 2701–2707. <https://doi.org/10.1090/S0002-9939-01-06040-3>
- [7] ———, *Nevanlinna theory and its relation to Diophantine approximation*, World Scientific Publishing Co., Inc., River Edge, NJ, 2001. <https://doi.org/10.1142/9789812810519>
- [8] M. Ru and W. Stoll, *The second main theorem for moving targets*, J. Geom. Anal. **1** (1991), no. 2, 99–138. <https://doi.org/10.1007/BF02938116>
- [9] M. Ru and J. T.-Y. Wang, *Truncated second main theorem with moving targets*, Trans. Amer. Math. Soc. **356** (2004), no. 2, 557–571. <https://doi.org/10.1090/S0002-9947-03-03453-6>
- [10] W. Stoll, *On the propagation of dependences*, Pacific J. Math. **139** (1989), no. 2, 311–337. <http://projecteuclid.org/euclid.pjm/1102649863>
- [11] P. D. Thoan, N. H. Nam, and N. V. An, *Second main theorems with weighted counting functions and its applications*, arXiv:1902.04461 [math.CV], to appear in Indian Journal of Pure and Applied Mathematics.

HONGZHE CAO
DEPARTMENT OF MATHEMATICS
NANCHANG UNIVERSITY
NANCHANG, JIANGXI, 330031, P. R. CHINA
Email address: hongzhecao@126.com, hongzhecao@ncu.edu.cn

LIZHEN DUAN
DEPARTMENT OF MATHEMATICS
NANCHANG UNIVERSITY
NANCHANG, JIANGXI, 330031, P. R. CHINA
Email address: 1937018403@qq.com